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AL GUFCE THOT FHRE T THETENSE (R0 (ACF IS AN SIS A |
- 2o 1 B eyl #fveq T 6! 61 @a ey eiew 5 =7+ 5 o ey s 5! 6

- &y 1 32 5 fam ey w2 sz (6! — 5!) 6 = 600 51
SRS A0 2 5T 3 /AR 5 e wifqore st awag 2 x 600 B

v FRATNGTEANS ST AETE 1800 ©F F2 71 2 A 3 12 IZ&T 7241
Toqd, T AT 2T &% 2 4|

Q, ALTTA eI S 1 @ *$ACS F2A! “{1eq AF (5! — 41) 3196 '

BT, HeATR fEors SRBIH 910 3 (a1 2 SR 1 91 2 AT FAT #ieq T 2 x 96 521 192 6

O3, AT AT ICACE WS (2000 — 1800 — 192) & 31, 8 B

GO SR 1 @ AT “Areq A 4! — 3! 6 ar 18 o > 8 0

T GOIY HIFH 1 IAI |

54 SREA 2 @ A7 AT IS (31— 2!) A4 0 < 8 |
W, 59L TRFIA IR 5 (2 7 TS SRS TG ALAN) | A LT A
G TIYIT 2 @A AR “rsq AR 2! B a2 0 < 4 )

4 o

WOWF, AL NIFIT I 6 (2 GF 2RO SRAAZS HAS FAN IR 2 6 (2 8 7) T AAM) |

WO, TIAMHE FBIET AATRH 4315627, 4315672 ; ITAA WYY 4315672 TG |
- frfa 2000 T 722 = 4315672

ax? + bx + ¢ = 0 STHNFAER 797 « @ B A (ac + b)~2 + (ap + b)~2 @3 WK Ay Fa

ANYE: ax®> + bx+c=0 -'-u:+[3=—%=> ﬂﬂ+ﬂ|3=—bh‘miﬂl3=§
Now, aa + b = —af @9 af + b = —aa

b? 2zc
. - - 1 1 ([I+|‘3}2—2|‘IE ead g A b%2-2ca
“@at+b) P+ @B+D) TR ot g T o P
! £. b?-2c
~(aa+b) 2+ (@B +b)2 = '

y = VX &tF (x, y) fTqioa 7= 7 =2 31 (4,0) @ Faoew
A (x, y) A (4,0) @999, D = (4 — %)% +y?

D=(@-x)2+x [~y=+x] “D=VxZ—BxFx+ 16=J(}:——)2+—

b A5 x=§§tﬁﬂﬂfﬁ?{| ~. fmfo (%\E) Ans.

tan sx—sinsx

T+ Adfa a9 Lt ——,s>0
x—() X
’ tan sx—sin sx 0 . s(sec® sx)—s(cos sx) ' .
ANTY: lim ;| = Form| = lim— - ; [L'hospital law]
x—0 x3 0 x—0 3X
2 2 v 2 i
., S“|2sec”sxtansx)+s5” sinsx 0
= lim ( ) ; [-— Fm‘m]
x—0 6X 0
2 4. 2 2 2 3
. s¢(2s sec”sx + 4s sec” sxtan” sxX + SCOS sX s“(2s5+s) S
= lim ( - = (Ans.)
x—0 6 b 2

R | 2
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05.  x*+ 2ax +y? = 0 IR o7 ~nireg e Reqere iy = QYA ™ PFTTZ x —ICHe Tofq 717

g2 2 _ dy _ dy _ _ dy _ _x+a
TNYA: x“ + 2ax +y —U=:~2x+23+2ydx—[} =y = (x+a)=:-dx_ ;

X O SR T GRS = 0= L =05y =0

X+a

~x2+2ax=0=x=0-2a - (0,0) 932 (—2a,0) (Ans.)
4

3 0 0 -2
0 2 0 0 0
06. THfRfgwa: |0 -1 0 5 —3
4 0 1 0 6
0 -1 0 3 2
3 0 0 -2 4
0 2 0 0 0
TWEE: |0 -1 0 5 —3
-4 0 1 0 6
0 -1 0 3 2
g g —2 g 2 0 0
OF I <1 R w0 = -1 2 5 ‘5] o= x3[-1 5 -3
0 -1 3 2 = 3 2

=(—1)x3x2|§ _23|= —6(10+9) = —114 (Ans.)

07. x=b @M y=(1-x)2,y=0 AR x =0 BWEl AT (FACF Ry (0 < x < b) €32 R,y(b < x < 1) Womwy fFoe
FEAIMA R, — R, == 1 b @7 T e 7=1)

E ey it (Y = —hyd=1 =t i
T re=es 3(1 b)® = 12=:-~(1 b) ==& 5b ~=Db > (Ans.)

08. 74N ¥9: sin O + sin 20 + sin360 = 1 + cos 6 +cos20, 0<0 <.
Y. sin B + sin 20 + sin360 = 1 + cos O + cos 28

= 25in20cos0 +sin20 = cos® + 2 cos2 0 =>sin29(2cusﬁ+1)—c059(22059+1) =0
= (2::059+1)(25in9cnsB—-cnsB) =(

i ™ 1 2T 21
cnsB=U=&cnsB=cusE .~.B=E : cosh = —-Ez:: cusE}=ms—3-.-. =

. 1 . . | § . 51 n
sin@ ===sinf =sin-=sin>= ~g="r
2 6 6 6
09, Eﬁ{ﬁﬁ"fﬂﬁ:cusﬂ+isinﬁ, I = —1
i _ i < _6
FAYE: QAT |r| = 1, I TGS o3 |; g TofaeeTa e = -

« Fufa 37 = £ (cos36 +isinle)

1 .
Alternative (1): Vcos8 + isin6 = + [{% (Vcos?2 8 + sinZ 8 + cos B)}z - IE (VcosZ 8 + sinZ B — cos B)}z]

=+ [{%(1 + cos 9)]% +if3(1 - cos 9)}%] =+ (cos20 + isin>6)

‘ . 9 0
Alternative (2): e'® = cos9 + isin 0 = VecosO +isinB=¢e'z nr=1 - arg = -
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10.
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14.

15.

IR | -

GG T8 T 719 x(t) = “3;2” | (7 AT TEA @ & FAA0eE FAN 70w, ©f [y w1 38foa 5wy, @ ¢ Aqed
AT T Z6FE AIWS [ T4

ST X(D) = o2 () =2(3 — 4b)

Now, [x(®)] = [v(B)] = 2= £2(3-4t)

= 3t—2t2 =3 — 4t; (+) @ e, 3t — 2t2 = —3 + 4t (- [40)
=22t -7t+3=0 =>2t2+t—3=0

=>t= 3,% (Ans.) ~t=1(Ans.)

Att =3, x(3) = 366) - —E ;v(3) = %(3 —473) = —%

t=1, x(1)=%; v(1)=—§

1
t=l: H(E)=E(3F1]=1
2 2 2

2
(©)=3(a-19) -

So, the time at when, x(t), v(t) and t are equal is t = % (Ans.)

e

p 3 A S FA 559V = (5x + 2y)i + (2py — z)] + (x — 2z)k AfEFCE TI?

satg: V = (5x + 2y)i + (2py — 2)j + (x — 2z)K
— —  J(5x+2y) A d(2py-z) , d(x-2z)

V.V= + + =D=:5+2p—2=0=:~p=-—-32- (Ans.)

dx dy dz
3ty +fFa 7 5Tw SUEE 49 @9 WL SIAE (FTHF THIAS! g R = 40 X 10*km T O, 57 @ 7JfAq FIF(R
@R (I @19 I8 ToF Torad b7 AN A7

GM GM .
HAAIYH: Here, x._f = (n-:;z ; [x = distance from earth]

¥ 2 :i:?ﬂ-x=7R—?x:x=§R=gx4ﬂx1U4km=3.5x105km (Ans.)

x2 (R—x)% R—-x

GG TR S AR, v = 5 sin(300mt — 1.57x), GUMA FI FA0 A SI 9FCF QW@ | SH (b [T, F1F,
@91 @ FIFE [dm a1 ‘

STA4A: y = 55in(300mt — 1.57x) = 5sin 1.57 (35t — x)

1.57
fRBE A = 5m, TS f = 32?[—“ = 150Hz, @ v = % = 600.304ms "1

1Y

@, T ==~ = — = 6.67 X 10~3s (Ans.)
f 150

a3 T/ 100m FFIE I Pz @ I /B 5eSr 5m W3R 7 [Sorma e R zre r3Ea fow=r 50em TR
AETH F© (@01 @ ZTA [Fa19m I @31 AI?

HAATLIF: Here, sin = ﬂ._:,j . B =5739° / 0.5m

2
~tan@ = ‘r’_g = v =,/rgtan® = V100 x 9.8 X tan 5.739 = 9.924ms™" (Ans.)

4=T5 PR TomR efevars V2 aR @3 fer e fasfe ames afiR Jew Rpfe @ 30° == farem @
IEERET ]
Y Here, p = V2,8, = 30°

. A &
smA+ﬁ"‘ —sin—2

. 5m
SIN— COS——+CO0s A .
T i— = V2 =—2—2732—2 52 =cos15° + cot>sin 15°

S'II'IE' SIDE

= cots = V3 =2=30° = A=60° (Ans.)
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16.

17.

18.

19.

20.

30 ¢ 60 M2 6 @I AN TN T 20 @y G0 @I A Fifes IS 91 W1 Wo2o[ 1.5V
SITHIEE I6T RS (F19 8 10 TSI @4 AR HFE T4 71 30 Q@ITYR W07 &91RS f[Rgres s Ay =

Iy 3Q
——AA—— 20
> gig e A A Ay
ANYE: The circuit 1s- 1[4
— AN
1.5V 1Q
=—= _ =22=03A
(3||6)+2+1 5
=8 168 _
sy = — | 5 X 0.3 =0.2A (Ans.)

(P A O (A0 #AifA7 BoAfrere S @ I TR A0 fGed 701 ZE ~T8 IRTER 519 105Nm2
A A SISl 67 [ SIoar 4°C]

A PV, = PV | Vo d® = V= 8V,

= (10° + hpg)V; = 10° x 8V, = hpg = 7 x 10°

7x%10°

h= 0058 = 71.428m (Ans.)

1m IR a4y RFE 93 370 oot 909 =9 300g, (BT AR IEE 60° et f{ew B & e
A AT S @@ w9 797 @b MRy fy wfww @ @3 799 o7 AMIRYE ML 30° @ By I3
[g =10 m/s?]

Y. m = 0.3kg; g=10m/s?; L=1m

~ X = cos 60° =§m ~h=1 —1=%m ~ mgh =%mw’2 + mg(1 — cos a)

2
AR o = 0°
- sifonfE = %mvz = mgh = 0.3 x 10 x%: 1.5] (Ans.)

ATIIEZE AT 30° (@t sifexfe = %mvz = mgh — mg(1 — cos 30°)

=1.5-0.3 X 10(1 — cos 30°) = 1.0980] (Ans.)

a3 #1793 e Twer AT 5 EEre Bt «fvs 21 #1abE 3 G o7 A f S’ “fors o
A 3 g Seay Fa “naba Sfire ciiers T sy ami?

T h = —gt? = ~x 9.8 x 52 = 122.5m |

3s 9 SO G = - X g X 3% = 44.1m
-'-ﬁﬁﬁﬂ‘ﬂmmmtiﬁ,%xgxtz=122*5—44.1

2x78.4
9.8

2000 =A% AT 4R 500cm? 1 CFaTe Q2 a0 O F=6feT 0.4 gauss oey {2 w3l g cvra erveg @
SR | SR FADLF 1/5 GITE 180° (MBI A | TS FHATS T SIOHIAT I STI T51?

HAAHE: N = 2000,A = 500cm? = 500 X 10~*m?

B =0.4gauss = 0.4 x 107*T

= t% =

=16 ~ t=4s (Ans.)

At==s; ¢; =BAcos0° = 0.4 X 10~* x 500 x 10~* = 2 x 10~

» =BAcos180° = —0.4x 1074 X500 X 10~% = —2 x 10-6
« E = Npi—Nd, _ 2000%(2x10~6—(-2x1075))

At 1
5

= 0.04V (Ans.)
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21.  (a) SI 9T QI ST <9< R G T 594 T4 |
A4 G, STP (8, P = 101325 Pa, T = 273K
A9, n=1mol AV = 22.4 x 10~*m° |

PV _ 101325x22.4x107°

. SV ST SIAER AR S, PV =nRT =2 R=—= = 8.314 ] mol~*K™?

nT 1x%273

(b) 1 T BT €32 27°C SIATET 1 cm? SIS Fosf Rfmm wg At o fAda 1
ANIE: P = 1 atm, T = (273 + 27)K = 300K, V = 1cm® = 107°L

PV 1x10~3 _
“PV=nRT=2>n=—-= = 4.06 X 10”°mol
RT  0.0821x300

@3, n = =4.06x 1075 + N =4.06x107° x 6.022 X 102 = N = 2.445 X 10'° (Ans.)
A

22.  (a) [Cr(CN)]3~ WA Cr @3 &Re 727 [efa a2
g [Cr(CN)g )P~
fd, Cr @9 9 HATT x, CN~ @9 &R JR2A71 —1
AX+6X(-1)=-3=2x=6-3=4+3 ~Cr9aH EI T = +3 (Ans.)

(b) SEH-STERGA “R 60O NG IFTRWE FArearerd Aol [FLW 4|
K,Cr,0, + HCl + KI = KCI + CrCl; + I; + H,0

AT TS Q@A 617 — 6e” — 31,

faeras w9 fafear: Cr,02~ + 6e~ + 14H* - 2Cr3* + 7H,0

x Cry,02~ 4 14H* + 61~ - 2Cr** + 31, + 7H,0
= K,Cr,0, + 14 HCl + 6KI - 2CrCl; + 8KCI + 31, + 7H,0

(c) T3 @© 8 e AIfem Moiea o fRqrs FidF pH #ffera e
AT fr3e @e 9 o e pH #fe: 4.2 — 6.3
EREFE «@d 18 7Ce pH AR+ 9: 83 — 10
23, (a) WEIfEfife ¢ wrTelfife &7 ¢
TR SCATSIRTS: 29 AATSIET a9 fid (@ 41ed SR [RERe T4 @ S gacee g [
sfeas SrTeiNte |
SAIREfifs: @ e Remee g3 IReR I @ e e e oifgame fefem aferas snrifeffs
|
(b) 1.198 ST awg A8 H,S0, Tt (uefaf @ crenfaft feme <= ars 6o f=71td 27% H, S04 SR

FTYTR: @A, 27% () H,S0,
~ 100g %t H,S0, SR 27g
s 8eS® = 73g

27

< mol -
. (NS = ﬁ: — 3.774 molal (Ans.)

1000

. UG = 22 x p = = X 1.198 = 3.3M (Ans.)

| EEE, | o |
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24.  (a) ITIE T3] &7
FAYIN: (@ GI0 = A SH I FE @15 FAEE GF 9] RIS 91 OIS 91 %39 90 |

(b) (T IERIE AAqFad 71|
TG SR IAFE TIOEH, = pK, + lug%;mwmﬂ- pH = 14 — pK}, — Iﬂgl[%l

(c) 9% fC T GATY 0.25M NH; 8 0.40M NH,Cl SITZ | 9af6a pH o1 9 | SO Ky, @3 7 1.8 X 105 |
SAYA: pOH = pKy, + log ot = _ 10g(1.8 x 10-5) + log—" = 4.948 - pH = 14 — pOH = 9.051

[NH;]
25. T fefermrefa 7y w5
P,0
(i) H3C — CO — NH, %}
t P20s
(11) CH; — COOH + HOOC — CH, —
CH,OH
v | KHSO,
(111) {IZHOH —
CH,OH

(iv) Cu(NO3), + K4[Fe(CN)¢] -
(v) ZnO + 2 NaOH -

P,0
FAIYE: (i) H;C — CO — NH, % CH;CN + H,0

P.0
(ii) CH3 — COOH + HOOC — CHj % (CH; — C0),0 + H,0

CH-OH CH,
| KHso, |
(111) l'T'H — OH — FH + 2H,0
CH,-OH CHO

(1v) ZCu(NOE)E + K4[FE(CN)E] — Cuz[Fe(CN)E] l+ 4KNO,
HEALs I

(v) ZnO + 2NaOH - Na,Zn0, + H,0
26.  (a) CuSO, BRI T4ITH 160 mA fIgyR 40 min TR SIFHT 1 2271 SRR AReS SR ~faiea 372271 el 1

FTAI: [ = 160mA = 0.16A, t= 40min = 2400s - W = ZIt = ——"—x 0.16 x 2400 = 0.1263g

., m_ N __ 0.1263x6.022x10%3 21
"M Na = N= o = 1.1978 X 10°"* (Ans.)

(b) T Glisefaa 3Gy [T orals: Cr, Se, Br, As, Sc
AAY: Cr(24) = 1s? 2s® 3p® 352 3p© 3d° 4s? ; Se(34) = 1s2 252 2p® 3s5A.3p® 3d10 4s? 4p*
Br(35) = 1s* 2s? 2p® 3s% 3p® 3d'° 4s% 4p° ; As(33) = 1s? 252 2p° 352 3p® 3d?° 4s? 4p°
Sc(21) = 1s° 252 2p® 352 3p® 3d* 452

27.  (a) fFafefRe citsrefam sefie wigee ford
(i) 2 - GFIA- 3 - fRe REGmE (i) 3 — f92=- 1 - ¢=if%w

(iii) 2,2 — CIRCHICAT (AT (iv) 4 — F3@T FF=12e smfEw (v) QG IRIRGIZG
Cl
|
AN (i) HyC — CH — CH — CH, — OH (if) H,C = CH — CH — CH, ~ CHj
CHj CH5
2—-@ar-3 faurds fatome 3-ferde -1
cl NH> :
| R — C’;‘!
(iii) H3C — C — CH4 ' (iv) (v) 0
L NO R~ C{,
2,2 -T2 TN 2
4-rETRRETRe W Y
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(b) & % Tiwae 7% fo | :

(i) I A TE TR SA@20e e [7fewn s

(ii) HI 7atd W HNO, 1% a1 T

(iii) I FAFINE Prerer ATt AN Sog 391 27|

(iv) T FAWEAE 7Y H,S0, T& K, Cr,0, 9 Sifds w41 =)

(v) I 2R afSte Erfeam AFeie s waca e & o)
HAMYI: (i) 2NH; + 3Cu0 — N, + 3Cu + 3H,0

(ii) HNO3 + 3HI = NO + 21, + 2H,0

(iii) 2 CHCI, + 6Ag — HC = CH + 6AgCl
KzCrz07+H;S04 Kz2Crp07+H,50,4

(]V) CHECHEDH 0] > CHSCHD 0] > CH3C00H
RAECE 7Y H,S0, T& K, Cr, 0, W1 SIS e &t S € 409 CH, COOH o =41
(v) CH3COOH(]) + NaHCO;(aq) — CH;COONa(aq) + CO,(g) + H,0(1)
28. IR STl 8 BT 12 ml U3 RGPS *FE 90ml S{E iera el fifdre s Rrwfie s =)
RTERUIR 2} 2Mree 02 S o G NAS 72ml 2511 @ 517757 Freieiras SHRIRT 5e=10d 21ia # 36 ml Saes 23|

RGIFEA a7 S see Ady 31
TN CH,, + (x + f‘i—’) 0, = xCO, + %Hzﬂ(g)

-3
GBI I 72 = 12:3 mol = 5.357 x 104

-3
SRS (e AN = 9”;3 mol = 4.017 x 103

36x10~3
mol
22.4

=xX5357x10"% -~ x=3.00008 =~ 3

TR CO, 9 G A =

36x10~3
22.4

2PITS,
SR8 AT IC1E TS = 36mL - I 22 = 35:_:24

2T, L x 5.357 x 1074 = 207 o,y — 60001 ~ 6+ FRMPRC FTFS = CyHg (Ans.)
29. ey e wzw e fagset fRfdFa sl 1500 K] o Bevima 3909 STP (0 o0 o STEem 2 ?
CH4 + 20, = CO, + 2H,0; AH = —890 K]
FAYE: CH, + 20, - CO, + 2H,0; AH = —890K]
890K] ©1% T3] FATS LTSN HIHCEH STP (S 2 % 22.4L
- 1500K] ST B TS LA SHCEH STP (5 222120, = 75,51,

30. faufEfes ffera warefa tedt st wewfbe armafae R B n
(a) AR At (b) ST =13y (c) 2T oIRAN @ree

1000-1200 atm
WW: (ﬂ) nHz — CHE » [_CHE - CHE _]n s ‘-ﬂw, n=600-1000
200°C.2=¥%F 0, s

mol

160°-250°C
(b) CH = CH + HCl(g) » CH, = CHCI
¥eF HeClz fmpmw @iz
cl
|

T 619
nCH, = CHCI o— »{ —CH, — CH -

PVC

; 1000 atm |

(c) nCH, = CH »| —CH, — CH —

offeror3fea
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31.  (a) Translate the following sentences into English:
(i) FEMCAT 7F Moy T==gs fegri
(ii) St 91 a1 9 o9y W™y |
(iii) AT T AT Fho AR |
(iv) (T TS FIW ST T SHewa QT I |
(v) ST ST GIA1ER N TS TS IO AT T |

i A

AATYI:

(1) People of Bangladesh believe in peaceful coexistence.

(11) Reproaching about others is a damnable offence.

(iii) It has been a great loss to harvest due to drought.

(iv) Mother smiled delightfully hearing the good news of her daughter.
(v) It is necessary to toil hard to ensure 'Shonar Bangla' in actual meaning.

(b) Translate the following sentence into Bengali:

(1) Patriotism is a great virtue.

(11) Nero fiddles while Rome burns.

(111) The eyes of the girl were suffused with tear.

(iv) Despite disliking coffee, she drank it to keep herself warm.
(v) Famine broke out in the wake of flood.

ANTYI:

(1) FTTICLN QD T3 @ |

(ii) ICIAT CoT 17 FICt A0 |

(iii) CTCABT BT S=kFre T Srofes |

(iv) fRTETT STeT A1ATS W™ ATGS 7 I 21N T |
(V) I1 FfSUFT P2 HL AS© =4 |

32. (a) Convert the following sentences as directed:
(1) His answer was not correct. (Make it complex)
(i1) The man is both foolish and talkative. (Make it negative)
(11i) Gold is one of the most precious metals. (Change into positive degree)
(1v) The boy is very intelligent, so he can understand his lessons. (Make it simple)
(v) Hurrah! We have won the game. (Make it assertive)

A -

(1) It was his answer which was incorrect.

(11) The man is not only foolish but also talkative.

(111) Very few metals are so precious as gold.

(1v) Being very intelligent, the boy can understand his lessons.
(v) It 1s a matter of great joy that we have won the game.

TR, | o |
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(b) Fill up the blanks with appropriate word:
(1) The beggar very hungry ate too much.

(11) running fast, he could not catch the train.
(111) The farmers worked hard so that
(iv) He pretends as though
(v) Hardly had I reached the college

ATYIA:

(1) being

(i1) despite

(111) they could get a good harvest
(iv) he knew nothing

(v) when the bell rang

33. (a) Make sentences with the following:
(1) Cut a sorry figure
(1) Far and wide
(111) Hale and hearty
(1v) Put up with
(v) Long and short

AATYH:
(1) He cut a sorry figure in his final exams.
(11) His reputation spread far and wide.

(ii1) The old man who 1s hale and hearty is still very healthy and strong.
(iv) I cannot put up with her anymore.
(v) Can you tell me the long and short of the story?

(b) Rewrite the following sentences using form of verbs:
(1) It is high time we (start) for home.

(i1) If I knew her name, I (to be) tell you.

(111) It was nearly seven years since I (see) you.

(iv) Always check the oil before (start) the car.

(v) Would you mind (open) the window?

FHATY:

(1) It is high time we started for home.
(i1) If I knew her name, I would tell you.

(ii1) It was nearly seven years since [ had seen you.

(iv) Always check the oil before starting the car.
(v) Would you mind opening the window?

34, (a) Change the voice of the following:
(1) Take care of your health.
(i1) He decided to sell the house.
(ii1) He is called a liar.

AT |
(1) Your health should be taken care of.

(i1) He decided that the house sould be sold.
(i1i) Everyone calls him a liar.

_ fflgmw SRR
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(b) Change the narration of the following:
(1) We wish that Bangladesh may live long.
(11) He said, "What a fool I am!"

(11) He asked me, "Are you happy in your new job?"

HATYI:

(1) We said, "May Bangladesh live long."

(11) He told that he was a great fool.

(111) He asked me if I was happy in my new job.

(c) Fill in the blanks with appropriate prepositions:

(1) The man was accused stealing.
(11) I prefer this pen that.

(111) [ am quite sure his honesty.
(1v) The woman was dressed black.

FAAIYE: (i) of (11) over  (iii) of (1v) in

35.  Read the following passage carefully and then answer of the questions given below:
The world is not only hungry but also thirsty for water. This may seem strange to you. Since nearly 75 percent of the
carth’s surface is covered with water. But about 97 percent of this huge amount is sea water or salt water. Man can
only drink and use the other 3 percent, the fresh water that comes from rivers, lakes, under ground and other sources.
And we cannot even use all of that because some of it is in the form of icebergs and glaciers. Even worse, some of it
has been polluted.
However, this small amount of fresh water which is constantly being replaced by rainfall is still enough for us. But
our need for water is increasing rapidly almost day by day. Only if we take steps to deal with this problem now we
can avoid a severe worldwide water shortage later on. A limited water supply would have a bad effect on agriculture
and industry. Let me give you just one example of how necessary water to industry. Do you know that to produce a
single ton of steel, it takes about 91000 liters of water?
We all have to learn how to stop wastage of our precious water. One of the first steps we should take is to develop
ways of reusing it. Experiments have already been done in this field but only on a small scale. The systems that have
been worked out resemble those uses in spacecraft.
Question:
(1) Why cannot we use all of the earth’s fresh water?
(1) How is the amount of fresh water replaced? v
(111) Why is our need for water rapidly increasing?
(1iv) Where does the fresh water come from?
(v) How can we stop wastage of fresh water?

AATYI:

(1) We cannot use all of the earth's fresh water because some of it is in the form of icebergs and glaciers. Again, some
of 1t has been polluted.

(i1) The small amount of fresh water is constantly being replaced by rainfall which is still enough for us.

(iii) Our need for water is rapidly increasing as the number of people on earth is increasing in an alarming rate. To
satisfy the need of this huge amount of people water is rapidly increasing.

(1v) The fresh water comes from rivers, lakes, underground and other sources.

(v) We all have to learn how to stop wastage of our precious water. One of the first steps we should take is to
develop ways of reusing it. These can help us to stop wastage of fresh water.




